PRE-SOLO WRITTEN EXAMINATION

Name___________________

Date___________________

Instructions: Read each question carefully and choose the answer that

              you think is most correct.

1. According to the Federal Aviation Regulations, there are a number of

   documents which must be in the aircraft to legally fly.  They are:

A. Registration certificate, airworthiness certificate, 

   aircraft logbooks and sectional aeronautical chart.

B. Registration certificate, airworthiness certificate, and

   operating limitations.

C. Registration certificate, airworthiness certificate, aircraft

   bill of sale, and at least one aeronautical chart for the route

   of intended flight.

2. A student pilot may log as solo time:

A. Only the time flown while sole occupant of the aircraft.

B. Only the time flown as sole manipulator of the controls.

C. Only the time flown with an instructor.

D. All time in the air.

3. As a student pilot, what documents must be in your possession at all

   times while flying solo?

A. Student pilot certificate and pilot logbook.

B. Student pilot certificate and FCC radio operators permit if the

   glider has a radio and you intend to use it.

C. Student pilot certificate only.

D. None of these documents are required to be on your person while

   flying solo.

4. If, as a student pilot, you have not had your pilot logbook endorsed

   for solo flight by a certified instructor within the past 90 days,

   you:

A. must have instruction in the make and model of aircraft given by a

   certified flight instructor and have your pilot logbook endorsed

   for solo flight by that instructor.

B. are still legal to fly solo.

C. must pass both a practical and written examination.

D. must pass a check ride given by a certified flight instructor

   and have your pilot logbook endorsed for solo flight by a

   certified flight instructor.

5. If, as a licensed pilot, you have not flown for 90 days and you wish

   to take a passenger along for a ride, you:

A. are legal to fly solo, but in order to carry passengers you must

   must make 3 takeoffs and landings within 90 days before the time

   you carry passengers.

B. are still legal to carry passengers.

C. must pass a check ride given by a certified flight instructor.

6. While flying, you notice a large twin-engine aircraft approaching

from your right on an apparent collision course.  You know to:

A. give right-of-way to the twin because he is on your right and

   has the right-of-way.

B. continue straight ahead since gliders have right-of-way over all

   engine driven aircraft.

C. see and avoid by maneuvering in any way you think necessary to

   avoid a possible collision.

7. The minimum safe altitude for flight over open water or sparsely

   populated areas is:

A. 1,000 feet from any object.

B. 1,000 feet above the highest obstacle within 2,000 feet

   horizontal radius of the aircraft.

C. 500 feet from any person, vessel, vehicle, or structure.

D. 500 feet above any obstacle.

8. The FAR’s mandate that when two aircraft are approaching head-on:

A. the smaller aircraft has the right-of-way.

B. both aircraft should alter course to the right.

C. the larger aircraft should alter course since it is more

   maneuverable.

D. the larger aircraft has the right-of-way.

9. A landing aircraft on final approach has right-of-way over:

A. everything.

B. aircraft on the ground.

C. everything except a towplane with glider on tow.

D. only those aircraft which it has right-of-way over in cruising

   flight.

10. Maneuvering speed (Va) is:

A. the speed used to fly in the traffic pattern while maneuvering

   to land.

B. the speed used to fly while between thermals searching for lift.

C. the speed which results in no damage to the aircraft when the

   controls are move sharply or with full deflection.

D. the maximum speed to fly in turbulent air.

11. The speed you should use to fly when searching for lift between

    thermals is:

A. maneuvering speed.

B. best L/D speed (best glide speed).

C. best speed to fly.

D. minimum sink speed.

E. Va.

12. Basic VFR minimums for controlled airspace below 10,000 feet MSL

    are:

A. visibility 3 statute miles or greater; 500 feet below, 1000 feet

   above, and 2000 feet horizontally from clouds.

B. visibility 1 statute mile or greater and clear of clouds.

C. visibility 1 statute mile or greater; 500 feet below, 1000 feet

   above, and 1000 feet horizontally from clouds.

D. visibility 5 statute miles or greater; 1000 feet below, 1000

   feet above, and 1 mile horizontally from clouds.

E. The same for all classes of airspace.

13. After your instructor has endorsed your student license for Solo

    flight, you may:

A. attempt a cross-country distance badge leg.

B. may fly cross-country only after your flight instructor has

   reviewed your pre-flight planning and endorsed your student

   pilot certificate and pilot logbook for cross-country flight.

C. may fly and make landings anywhere within a radius of 25 statute

   miles from your home base.

14. The final responsibility of determining whether an aircraft is safe

    for flight lies with:

A. your instructor.

B. the aircraft owner.

C. the aircraft operator.

D. the pilot-in-command.

15. Unless otherwise indicated, all turns made in the traffic pattern of

    an uncontrolled field will be:

A. to the right.

B. to the left.

C. either right or left depending on wind direction.

D. at the discretion of the pilot.

E. determined by P-factor.

16. An aircraft carrying passengers for hire must be inspected:

A. annually.

B. semi-annually.

C. annually plus every 100 hours.
D. in accordance with a progressive maintenance schedule.

17. It is the responsibility of the pilot is command to familiarize

    himself with which of the following prior to each flight?

a. weight and balance.

b. the operating limitations of the aircraft.

C. everything which light pertain to the flight.

d. weather reports.

18. Flying to the west in VFR conditions, you know there is an

    instrument approach course crossing your intended flight path

    You know to:

a. avoid this area entirely in order to comply with FAR’s.

b. exercise extreme caution while flying in this area since it is

   used for instrument approaches in both good and bad weather.

c. fly normally through this area because all aircraft on instrument

   approaches are under radar surveillance and are kept advised

   of your position.

19. During in aerotow you see the towplane violently rocking it's wings.

    You know to:

a. release immediately since this is the standard signal for a towplane

   in trouble.

b. do nothing since the towplane pilot has probably encountered

   light turbulence.

c. release at your discretion since the towpilot is signaling you of

   good thermal lift.

20. Immediately after becoming airborne you discover that you have

    failed to remove the pitot system cover.  You should:

a. release and land straight ahead on the remaining runway applying

   dive brakes as necessary.

b. continue with the tow and set up a normal traffic pattern.

C. continue with the flight since you know that the pitot system works

   equally well with the cover in place.

d. Pull the release *immediately* due to the emergency.

21. While on aerotow, you discover that you are unable to release the

    towline.  You should signal the towplane pilot by:

a. fishtail back and forth using the rudder.

b. fly to the left side position and rock your wings.

c. descend to the low tow position and rock your wings.

d. perform a slack-line maneuver to snap the rope.

22. Circling birds are often a sign of good lift, but they can also

    present quite a hazard to aircraft.  Upon encountering circling

    birds you should:

a. circle below the birds is this will often be the area of best lift.

b. overtake them by flying above or off to one side.

c. avoid the area entirely.

23. Immediately after takeoff, halfway along a 3000 foot runway,

    your towline breaks. The most likely correct emergency

    procedure is:

a. extend the dive brakes and apply full aft elevator and opposite

   rudder to reduce the airspeed then land straight ahead on the

   remaining runway.

b. use the higher than normal airspeed to gain altitude in older

   to make a 180 degree turn.

c. lower the nose to maintain flying speed, extend the dive brakes,

   and land straight ahead.

24. FAR’s concerning tow rope strength state the tow rope must be:

a. not less than 80% of the maximum certificated weight of the glider

   and not more than 200% of the actual flying weight.

b. not less than 80% of the actual flying weight of the glider and

   not more than 200% of the maximum certificated weight.

c. not less than 80% of the operating weight of the glider

   nor more than 200%.

25. It is allowable to use a tow rope with a breaking strength greater

   than the above 200% limit if:

a. the total weight of the towplane is less than 200% of the glider's weight.

b. there is a weak link installed at the glider end of the tow rope.

c. there is weak link mounted on both ends of the tow rope.

d. a knot is tied in the rope to reduce its strength.

26. The regulations pertaining to overdue aircraft and aircraft

    accident reporting procedures can be found in:

a. FAR part 61

b. FAR part 91

c. NTSB part 830

d. Airman's information Manual part 4

27. Over 52% of all aircraft accidents can be attributed to stalls.

    Regarding stalls, you should know that:

a: an aircraft can stall at any airspeed or flight attitude.

b: the Blanik L-13 will always stall at 32 knots.

c. an aircraft will only stall when the nose attitude is above the

   horizon by an an angle defined as the “critical angle of attack.”

29. You know that a stall is caused by exceeding the critical angle

   of attack.  Your primary tool in controlling angle of

   attack (and therefore stalls) is:

a. airspeed

b. relative airflow.

C. elevator.

d. dive brakes.

e. P-factor.

29. The proper procedure for removing slack from the towline is:

a. yaw the nose of the glider away from the rope using the rudder

   while keeping the wings level.

b. apply dive brakes to tighten the towline.

c. climb to reduce speed and tighten towline.

d. wait for the towplane to accelerate and remove the slack.

30. If, during an approach using full spoilers, you have flared too high,

    you may correct this problem and avoid a hard landing by:

a. closing the dive brakes and leave them closed until the glider is

   on the ground.

b. closing the dive brakes, lower the nose to a gliding attitude, and

   perform another round-out, flair and landing using the dive brakes

   as necessary.

c. lower the nose of the glider to get it on the ground as quickly 

   as possible.  Use the elevator to keep the glider from bouncing 

   into the air.

31. In order to comply fully with the FAR’s concerning preflight duties,

    you must:

a. manually or mentally compute a weight and balance calculation

   before every glider flight.

b. ascertain that the glider is safe for flight before every flight.

c. familiarize yourself with the current and forecast weather for

   the route of you intended flight.

d. (a) and (b).

e. (b) and (c).

f. (a) and (c).

g. (a), (b) and (c).

32. Angle of attack is the angle:

a. between the relative airflow and the horizon.

b. between the direction of motion and the horizon.

c. between the airfoil and relative airflow.

d. between the aircraft longitudinal axis and the airfoil.

e. between the aircraft longitudinal axis and the horizon.

33. The danger in making steep turns close to the ground lies primarily with

a. the possibility of turbulence or a strong wind gradient.

b. the need for excess speed.

c. the possibility of a button-hook pattern.

d. load factor.

34. The correct control positions for a crosswind takeoff is:

a. upwind aileron deflected up and rudder deflected downwind.

b. upwind aileron deflected down and rudder deflected downwind.

c. upwind aileron deflected up and rudder deflected upwind.

d. upwind aileron deflected down and rudder deflected downwind.

35. The primary danger in making a downwind landing is:

a. the illusion of a high airspeed.

b. ineffectiveness of the rudder.

c. ineffectiveness of the wheel brake.

d. a side-slip condition.

e. all of the above.

f. (a), (b) and (c).

36. After pulling the release and seeing the towline snap back

    toward the towplane you should:

a. initiate a climbing right turn.

b. initiate a level right turn.

c. turn towards the gliderport.

d. turn towards thermaling gliders.

e. use the radio (if equipped) to declare an emergency.

37. The primary function of the rudder is to:

a. turn the aircraft.

b. counteract aileron drag.

c. assist in the recovery from spins.

d. perform side slips.

e. perform forward slips.

38.  The primary function of the dive brake is to:

a. increase lift.

b. decrease drag.

c. increase drag.

d. increase glide ratio.

e. control airspeed.

f. counteract P-factor.

39.  The main purpose of elevator trim is to:

a. make the elevator more effective.

b. relieve some of the necessary stick pressure.

c. raise the nose of the glider.

d. counteract P-factor.

40. You could correct the displaced yaw-string depicted here by:

                                      FWD

a. applying right rudder.              |\

b. applying left rudder.               | \

c. raising the nose attitude.          |  \ ( yaw string

d. side-slipping.

41. You are aware that the airspeed indicator:

a. gives instantaneous airspeed indications.

b. lags slightly in its indications.

c. displays your speed relative to the earth's surface.

d. uses the total energy probe for altitude compensation.

42. During the night, frost has formed on the wings of your glider.

    You know that:

a. it is not necessary to remove the frost because it will quickly

   clear during the aerotow.

b. you should remove all traces of frost before attempting to takeoff.

c. it is only required to remove the frost on the leading edge of

   the wings and control surfaces where the laminar airflow is produced.

d. you should remove all traces of frost from the control surfaces only.

43. While attempting to land in calm conditions, you discover that 

    your dive brakes have frozen in the closed position.

a. continue the approach and descend using the side-slip method.

b. Use P-factor in lieu of the dive brakes.

c. force the glider down with the elevator and ignore the increased

   airspeed.

d. continue the approach and descend using the forward-slip method.

e. use the elevator to induce a negative load factor to unfreeze

   the dive brakes.

44.  In a 60 degree bank:

a. both you and the glider weigh twice as much as on the ground.

b. the load factor is 2.

c. the stalling speed increases by more thin 40%.

d. all of the above.

e. (a) and (b) only.

f. the glider weighs twice as much as in level flight, but the

   weight of the pilot remains unchanged.

45.  Your glider is certified in which category?

a. normal.

b. utility.

C. acrobatic.

d. high-performance.

e. aero-tow only.

46.  The signal to tell the towplane to turn right is:

a. the glider moves to the right.

b. the glider moves to the left.

c. the glider moves to the right and rocks its wings.

d. the glider fishtails using the rudder.

47.  A parachute must be repacked by a certified rigger:

a. every 60 days if it is a chair type.

b. every 90 days if it is a back pack.

c. every 120 days regardless of style.

d. only if it has been used. Otherwise any rated parachutist may do it.

e. none of the above.

f. (a), (b) and (d).

48. The proper sequence of control movements is essential in the

    recovery from a spin.  They are:

a. full left elevator, full opposite aileron, pause, neutralize rudder

   and recover.

b. full opposite rudder, forward elevator, pause, neutralize rudder

   and return to level flight.

c. opposite rudder and aileron, pause, neutralize rudder and return

   to level flight.

d. full opposite aileron, full rudder, pause, neutralize all controls

   and return to level flight.

49. Concerning ridge flying, you know that:

a. ridge lift is a wide band of lift which lies directly above the

   top of the ridge.

b. both sides of a ridge can be used equally well to sustain lift

   because of the "curl over" effect.

c. ridge lift is a narrow band of lift lying in front of the ridge

   on the upwind side.

d. ridge lift is found on the lee side of a topographic obstruction.

50. Wave lift is indicated by which kind of cloud?

a. cumulus

b. nimbus

c. shear line

d. stratus

e. lenticular

f. none

51. Oxygen must be used:

a. Any time the pilot is above 12,500 AGL.

b. Whenever the pilot is above 12,500 MSL.

c. by a passenger above 15,000 MSL.

d. by the pilot within 24 hours of scuba diving.

e. all of the above.

f. none of the above.

52. If a glider with a 32:1 glide ratio is being flown at 6000’ AGL 

    in still air:

a. the glider will fly 28 nm over the ground.

b. the glider will fly up to 6000’ over the ground.

c. the glider has a range of up to 32 nm.

d. the glider will fly farther if flown faster downwind.

e. the glide-distance depends on weight.

f. the glider will fly 24 nm if flown at the correct speed.

53. On a cross-country flight, the speed to fly is:

a. faster going upwind

b. slower going crosswind

c. independent of weight

d. determined by P-factor

e. 28:1 in a Blanik L-13

f. minimum sink.

54. On a cross-country flight you are flying upwind towards a

turnpoint, intending to reverse course at the turnpoint.  You

find a thermal approaching the turnpoint.  You should:

a. first fly to the turnpoint, then come back to climb in the

   thermal.

b. climb in the thermal now, then go to the turnpoint.

c. it doesn’t matter.

d. do NOT thermal near turnpoints.

55. The best L/D speed of a glider:

a. decreases with weight.

b. is lower than the minimum sink speed.

c. will maximize your flight time, if flown on a calm day.

d. is determined by the aircraft P-factor

e. must never be exceeded.

f. occurs when induced and parasitic drag are equal.

g. occurs at the peak of the polar curve.

h. all of the above.

56. Which instruments are required for flight:

a. Variometer

b. VSI

c. airspeed indicator

d. altimeter

e. radio

f. compass

g. turn coordinator

h. water ballast quantity indicator

i. attitude indicator

j. aircraft logbook

57. If official sunset is at 7 PM, how late may a glider

    without lights fly?

a. 6:00 PM

b. 6:30 PM

c. 7:00 PM

d. 7:30 PM

e. 8:00 PM

58. Assuming a glider flying into a headwind, the pilot should:

a. fly at minimum sink speed

b. fly at best-glide speed

c. fly at best L/D speed

d. fly slower than best L/D speed

e. fly faster than best-glide speed

f. fly no faster than Va.

59. Parachutes are required to be used during:

a. all flights

b. all training flights

c. all aerobatic flights.

d. all aerobatic flights except spin instruction.

e. all mountain flights.

f. none of the above.

60. What type of airspace is associated with Livermore airport 

    when the control tower is operating?

a. class A

b. class B

c. class C

d. class D

e. class E

f. class F

g. class G

61. What type of airspace are you flying in when flying directly

    over Byron airport at an altitude of 500 ft?

a. class A

b. class B

c. class C

d. class D

e. class E

f. class F

g. class G

62. What type of airspace are you flying in when flying directly

    over Byron airport at an altitude of 1000 ft?

a. class A

b. class B

c. class C

d. class D

e. class E

f. class F

g. class G

63. What type of airspace are you flying in when flying directly

    over Byron airport at an altitude of 1500 ft?

a. class A

b. class B

c. class C

d. class D

e. class E

f. class F

g. class G

64. What type of airspace are you in when you are landing

    on rwy 30 at an altitude of one foot at Byron airport?

a. class A

b. class B

c. class C

d. class D

e. class E

f. class F

g. class G

65. Can you drop objects from an aircraft in flight?  If so, when?

66. When landing off-field:

a. always land into the wind.

b. always land uphill (when landing on a slope, even if downwind).

c. always land perpendicular to furrows in a plowed field.

d. landing parallel to the plowed furrows is usually preferred.

e. all of the above.

f. (a) and (e)

g. (b) and (d)

67. Which is OK?

a. First fly, then go scuba diving.

b. first go scuba diving, then fly.

c. either.

d. either if P-factor has been properly calculated.

e. none of the above.

68. What happens if flying at altitude without oxygen?

a. hyperventilation 

b. nitrogen narcosis

c. hypoxia

d. vertigo

e. forgetfulness

f. dehydration

69. which instrument uses the Pitot tube?

a. altimeter

b. airspeed indicator

c. compass

d. variometer

e. turn and bank indicator

f. (a) and (b)

70. Which is true? 

a. A slip occurs when too much rudder is applied for a given bank.

b. A skid occurs when too much rudder is applied for a given bank.

c. Uncoordinated flight occurs during a slip, but not skid.

d. Uncoordinated flight occurs during a skid, but not slip.

71. What causes the aircraft to turn?

a. Rudder

b. Ailerons

c. Horizontal component of lift

d. P-factor

e. interplay of ailerons, elevator and rudder

72. To maintain level flight:

a. apply forward stick when entering a turn

b. apply back stick when entering a turn

c. always apply rudder in the direction of the turn.

d. P-factor must exactly counteract aileron drag.

73. During a spin: 

a. Airspeed increases rapidly

b. Load factor is high

c. the critical angle of attack is exceeded

d. P-factor is extremely high

e. the airspeed indicator may act like an altimeter

74. Ground effect:

a. is most pronounced with the spoilers fully deployed

b. increases as a function of P-factor

c. decreases landing distance

d. is most pronounced within one wingspan of the ground

e. increases the downwash airflow

f. all of the above

75. Wingtip vortices:

a. do not occur in gliders

b. increase with P-factor

c. are strongest on fast aircraft

d. are produced at the wingtips

e. are strongest after landing

76. Thermal conditions are most likely in:

a. stable air

b. unstable air

c. stratus clouds

d. lenticular clouds

e. warm air

77. If full left aileron is abruptly given to a glider 

without any use of rudder:

a. directional control may become unstable.

b. the nose will initially go right, then left

c. structural limits may be exceeded

d. the nose will drop.

78. Adverse yaw: 

a. is dangerous near the ground.

b. can cause structural failure, if uncorrected.

c. counteracts P-factor in steady flight

d. is caused by asymmetry of the ailerons.

e. can couple dangerously with wingtip vortices.

79. A transponder with mode C is required to fly in

    which class of airspace:

a. A,B,C

b. A,C,E

c. A,B

d. A,B,C,D,G

80. What are the FAR’s on alcohol use?

